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India, a war zone for foreign travellers

Abysmal air quality has to be the worst advertisement for India as a travel destination. No amount of
government PR can stop foreign travellers from seeing our country as a 'war zone' that is best
avoided, at least until the smog of war clears. This week, severe air pollution across northern India
pulled off a Houdini act, making the Taj Mahal in Agra 'vanish'. But focusing on Agra or Delhi misses
the point. As does the disaster management line that pollution has affected only parts of 'our
wonderful country', so visitors have plenty of other places within India to go to. Most Indians seem to
be blase about their own well-being. But outsiders are not. Reputational damage is serious.

The Indo-Gangetic Plain (IGP) is among India's most polluted regions, and air quality across northern
India has worsened this past week. Flight disruptions were inevitable. Yet, administrative inaction
remains a constant challenge, as does an apathetic citizenry. While stubble-burning as winter

approaches gets the lion-share of the blame, pollution is not a seasonal menace but a year-round
crisis for IGP, fuelled by polluting factories, an increasing number of vehicles and weak enforcement
of green laws. Cooler temperatures and slow-moving winds worsen the situation by trapping deadly
pollutants each winter.

Last month, after years of dithering, Gol finally set up a panel to develop an airshed approach, a
much-needed step to address this scourge. But will it deliver results, or merely shuffle papers? If the
Taj's disappearing into a smoggy abyss isn't a wake-up call, what is? The stakes - health, economy and
India's global standing - demand action, not more bureaucratic tiptoeing. Those hopeful of visiting

India can only hope this happens sooner than later. |[Practice Exercise]|

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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Vocabulary
10.

Abysmal (adjective) — Extremely bad,
terrible, dreadful, appalling, atrocious 3%3

CTd

Pull off (phrasal verb) — Achieve,
accomplish, succeed in doing, manage,

carry off el glall

Houdini act (noun) — An act of
disappearing or escaping skillfully and

unexpectedly 3dTelch IS §lAT AT &
IGEXCI

Vanish (verb) — Disappear, fade away,

evaporate, dissipate, go missing ngﬂl

Miss the point (phrase) — Fail to
understand, misunderstand, not grasp,

overlook the main idea ﬂﬁmﬁﬁ
Yehodl

N

Plenty (noun) — Abundance, a lot, ample

amount, many, numerous WHHT

Blasé (adjective) — Unconcerned,
indifferent, unimpressed, apathetic,

nonchalant 3&T&TeT

Well-being (noun) — Welfare, health,
happiness, prosperity, comfort @RId

Worsen (verb) — Deteriorate, decline, get

worse, aggravate, exacerbate ﬁ?'lg?ﬂ

11

12

13.

14.

15.

16.

17.

18.

19.

20.

Inevitable (adjective) — Unavoidable,
certain, inescapable, bound to happen,

predictable 3TTRERT

. Apathetic (adjective) — Indifferent,

uninterested, unconcerned, unresponsive,

dispassionate 3GT&IeT

. Citizenry (noun) — Citizens, populace,

public, residents, people TR

Stubble-burning (noun) — The practice of
setting fire to crop residues after harvest

QRTAT STl

Approach (verb) — Come near, move

toward, draw close, advance, reach IGETA

3TAT

Lion's share (noun) — Majority, most, bulk,
largest part, main portion a8 &3 fg&dr

Menace (noun) — Threat, danger, hazard,
risk, peril T

Fuel (verb) — Stimulate, provoke, intensify,
feed, incite #AShIAT

Enforcement (noun) — Implementation,
execution, application, imposition,

upholding‘;lil?-‘l?f

Dithering (noun) — Hesitation, indecision,
wavering, vacillation, delay W

Set up (phrasal verb) — Establish, create,
form, initiate, start TATTAA &TAT
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21.

22.

23.

24,

25.

26.

Airshed approach (noun) — A strategy to
manage air quality over a specific
geographic area where pollutants share

common sources El'l'%f &Taﬁ'q'{f@cfafl'UT

Address (verb) — Tackle, deal with, attend
to, confront, handle HHTT T

Scourge (noun) — Plague, curse, affliction,
bane, torment EIEE R

Merely (adverb) — Only, just, simply, solely,
nothing more than HTT

Shuffle (verb) — Move papers around,
rearrange, reorganize, reshuffle, handle

carelessly TSI sl SER-3ER FIeAT

Abyss (noun) — Chasm, void, bottomless
pit, deep hole, gulf ?IEFH'IT-‘T

27.

28.

29.

30.

31.

Wake-up call (noun) — Warning, alert,
cautionary signal, eye-opener, alarm

TTTTT et aTelT ohd

Standing (noun) — Reputation, status,
position, prestige, rank IfcsaT

Bureaucratic (adjective) — Administrative,
governmental, procedural, official, red-

tape related SAIRIMET ey

Tiptoeing (noun) — Moving carefully or
cautiously to avoid attention or causing

disturbance HT%HT&]T%Q?ITQ?F—IT

Sooner than later (phrase) — Before too
long, soon, in the near future, promptly,

without delay STeq H ST
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10.

11.

12.

13.

14.

15.

Summary of the Editorial
The editorial highlights how India's severe air pollution is harming its image as a travel
destination for foreign tourists.
The worsening air quality, especially in northern India, makes travelers perceive the country as
a 'war zone' to be avoided.
The recent pollution surge made iconic monuments like the Taj Mahal nearly invisible,
signaling a critical problem.
Authorities’ reassurances that only parts of India are affected by pollution fail to convince or
reassure potential visitors.
The editorial points out that most Indians seem indifferent to the pollution crisis, unlike
foreign tourists who are deeply concerned.
The Indo-Gangetic Plain (IGP) remains one of the most polluted regions, experiencing year-
round air quality issues.
The worsening air pollution disrupts flights and daily activities, demonstrating its severe
impact on travel and the economy.
The editorial criticizes the government's slow and inadequate response to the persistent
pollution crisis.
Factors contributing to pollution include stubble burning, polluting factories, vehicular
emissions, and poor enforcement of environmental laws.
The winter season exacerbates pollution problems, with cooler temperatures and stagnant
winds trapping pollutants.

The government recently set up a new panel to address the pollution crisis through an airshed
approach.
However, skepticism remains about whether this panel will bring real change or merely engage

in bureaucratic formalities.

The disappearance of the Taj Mahal in smog serves as a potent symbol of India's
environmental challenges.

The editorial stresses the high stakes of the issue, which affect public health, the economy,
and India's international reputation.

There is a call for immediate and decisive action to combat pollution, as continued inaction
could worsen the country’s image and detour tourism.
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Practice Exercise: SSC Pattern Based

1. Which of the following best describes the impact of severe air pollution on India's global image as a

travel destination? [Editorial Page]
A. ltisseen as a temporary problem that does not affect tourism.
B. It severely damages India's reputation, causing travelers to avoid the country.
C. It has no effect on the country's global standing because of other attractions.
D. It makes tourists prefer to visit only places with less pollution.
2. Why does the passage emphasize that pollution is not just a seasonal menace in the Indo-Gangetic
Plain?
A. To highlight that it is a crisis worsened by various year-round factors.
B. To claim that pollution is only a concern during winter.
C. To explain that pollution improves significantly in the summer months.
D. To suggest that stubble-burning is the only cause of pollution.

3. What is the purpose of mentioning the government's recent action of setting up a panel for an

airshed approach?

A.
B.
C.
D.

To show that the government is making genuine efforts to solve the problem.
To question whether it will bring effective results or remain ineffective.

To praise the government's immediate and effective response to pollution.
To highlight the success of the airshed approach in reducing pollution so far.

4. What can be inferred about the response of the Indian government and citizens towards the

pollution crisis from the passage?

A.
B.
C.
D.

The government and citizens are highly proactive in tackling the pollution crisis.

The government and citizens have shown a lack of urgency in addressing the pollution crisis.
The government has successfully implemented measures to control pollution.

The citizens are more concerned about their well-being than the government is.

5. Which of the following can be inferred about the long-term effects of pollution in the Indo-Gangetic

Plain from the passage?

A.
B.
C.
D.

Pollution in the Indo-Gangetic Plain is a seasonal problem that will reduce in severity over time.
Efforts to control pollution are highly effective, and the situation is improving rapidly.

The long-term effects of pollution are likely to remain unless significant changes are made.

The problem of pollution in the region is exaggerated and does not require immediate action.

6. Select the option that expresses the given sentence in passive voice.
The teenager delivered the speech.

A.
B.
C.
D.

The speech was being delivered by the teenager.
The speech was delivered by the teenager.

The speech has been delivered by the teenager.
The speech is delivered by the teenager.

7. The given sentence is divided into four segments. Select the option that has the segment with a
grammatical error.
Two of the world’s / best forwards / has played alongside / David Beckham.

A.
B.
C.

two of the world’s
david Beckham.
has played alongside
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8.

10.

11.

12.

13.

D. best forwards

Select the option that contains all the MISSPELT words in the following sentences.
A. The new restraunt offers a wide variety of delicious dishes.

| can't beleive he made such a silly mistake in his presentation.

The teacher asked the students to complete the assigment by Friday.
She felt utterly embarassed by her colleague’s comments.

restraunt, silly, assigment, colleague

restraunt, beleive, assigment, embarassed

delicious, beleive, assigment, utterly

delicious, silly, assigment, colleague

Select the option that expresses the given sentence in passive voice.

| have booked an apartment in the new residential colony

CO®>ON0®

A. An apartment had been booked by me in the new residential colony.

B. An apartment is been booked by me in the new residential colony.

C. An apartment has been booked by me in the new residential colony.

D. An apartment have been booked by me in the new residential colony.

Select the most appropriate homonyms from the given alternatives to fill in the blanks.
The rowing instructor commanded them to ina

A.row (verb)
B.roe
C.row (sequence)

A. AB
B. B,C
C. AC
D. CA

Select the correctly spelt word to fill in the blank.
My mother said that every relationship must have some amount of

A. flaxibilety
B. flexibility
C. phlexibility
D. flexebelity

Given below are four jumbled sentences. Select the option that gives their correct logical sequence.
A. These are responsible for producing the major fuel used across the globe.

B. The country has 100 major oil and gas fields.

C. The economy of Saudi Arabia is based on petroleum.

D. The chief oil field is Ghawar Field having an estimated 70 billion reserve resource
A. DCAB

B. ABCD

C. CBAD

D. BACD

Select the most appropriate ANTONYM of the given word.

Material

A. Temporary

B. Cheap

C. Concrete
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14.

15.

16.

17.

18.

19.

20.

D. Abstract

Select the most appropriate meaning of the given idiom.
At a low ebb

A. Inanunemployed mode

B. In a critical moment

C. Inadepressed or weak state

D. Ina happy state

Select the most appropriate synonym of the given word.

Brittle

A. Fragile

B. Furtive

C. Fatal

D. Fickle

Select the most appropriate synonym of the given word.
Cherish

A. Afflict

B. Nurture

C. Breach

D. Neglect

Select the most appropriate meaning of the given idiom.
Off and on

A. Remind

B. Know something thoroughly

C. Now and then

D. Objectto

Select the most appropriate synonym of the given word.

Adequate

A. Sufficient

B. Hidden

C. Evaluate

D. Reconcile

Select the most appropriate option to substitute the underlined word segment in the given sentence.
Sanat has just arrived in Mysore on transfer; he requests his friend Raghu to help him
find an appropriate location

A. an allocation recommendation

B. arented accommodation

C. asuitable elevation

D. a proper junction

Select the most appropriate option to substitute the underlined segment in the given sentence.
The food intolerance industry has grown dramatically in the previous decade, chiefly because of a

boost in Coeliac and Crohn’s disease cases, as well as increasing awareness among health-conscious
clients

A. pretty much entirely because of a boil-down

B. contextually because of a spark

C. owing primarily to a rise
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D. casually due to a growth
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and select the
most appropriate option to fill in each blank.
Cultureis (1) , understanding, and protecting, like the cultivation of a garden, not the
destruction or eradication of its roots. Understanding the roots and seeds, taking much care and
providing instructed nourishment (2) important for good gardening. Culture also is similar;
understanding its acquaintance (3) literature and art and careful protection are required.
Culture is the way of life of a particular society in which a group of people live together in one place.
The society’s culture is visible in its literature, arts, social system, language and religion. It is a
combination of traditions, customs, institutions, food habits, manners, morals, thoughts, tastes, views
and beliefs. Usually, families (4) culture to the younger generations. As family system is
becoming weak, schools, colleges and universities should take up this responsibility as education
should promote potential values of its culture. The role of universities (5) only to issue course
completed certificates.

21. Select the most appropriate option to fill in blank number 1.

A. create
B. to create
C. creation
D. creating
22. Select the most appropriate option to fill in blank number 2.
A. were
B. are
C. is
D. was
23. Select the most appropriate option to fill in blank number 3.
A. with
B. on
C. for
D. in

24. Select the most appropriate option to fill in blank number 4
A. transmitted
B. transmit
C. transmits
D. transmitting
25. Select the most appropriate option to fill in blank number 5.
A. should restricted
B. restrict
C. should be restricted
D. should not be restricted
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Answers
1. B 22A 3.B 4B 5C 6.8 7.C 8.B 9.C 10.C 11B 12.C
13.D 14.C 15A 1l6B 17C 18A 19B 20.C 21.D 22B 23.A 248B
25.D \[Practice Exercise]\
Explanation

1. B) The passage states that abysmal air quality is the "worst advertisement for India" as a
travel destination, causing reputational damage and making the country seem like a "war
zone" that tourists want to avoid. Hence, the correct answer is B.

2. A) The passage indicates that pollution is a continuous issue exacerbated by factors like
polluting factories, vehicles, and inadequate enforcement of green laws, even though winter
conditions worsen it. Hence, the correct answer is A.

3. B) The passage mentions the government’s action but then poses a rhetorical question about
whether the panel will deliver results or merely shuffle papers, indicating skepticism about its
effectiveness. Hence, the correct answer is B.

4. B) The passage mentions "administrative inaction" and describes citizens as "apathetic,"
indicating a general lack of urgency and proactive behavior in dealing with pollution.
Therefore, the correct inference is B.

5. C) The passage emphasizes that pollution is a "year-round crisis" exacerbated by multiple
factors and suggests that serious action is required. It implies that the situation will not
improve without substantial intervention. Hence, the correct inference is C.

6. B) The speech was delivered by the teenager

Active Voice @I Passive Voice H S¢elel & oIl (Object + Auxiliary Verb + Past Participle + by +

Subject) ST FART THAT SATAT &1 aFT ‘The teenager delivered the speech’ @I Passive Voice H
ICod GHT Object ‘the speech’ I ATFT Fr _[e3Td #H @1 SATAT g1 Verb ‘delivered’ @1 Passive
Voice H deeTahY ‘was delivered’ fRaT 1T %‘,a—‘&’iﬁ# gg Simple Past Tense &hl dTeFT %’I Subject
‘the teenager’ I 3Id H ‘by the teenager’ & 9 H T@T SATAT gl

¢ To convert Active Voice into Passive Voice, the structure (Object + Auxiliary Verb + Past Participle + by
+ Subject) is used. In the sentence ‘The teenager delivered the speech’, the object ‘the speech’ is
placed at the beginning, and the verb ‘delivered’ is changed to ‘was delivered’ in the Simple Past Tense.
The subject ‘the teenager’ is placed at the end as ‘by the teenager’. Therefore, the correct answer is
(The speech was delivered by the teenager).

7. C) has played' % =<l 'have played' T T '@TIT FATTF aTFT T Subject 'Two of the world’s best

forwards' Plural € 3T Plural Subject 3 &TZ Verb T Plural 7 'have' &T 3T 1T §; SI{— Two of the
world's best forwards have played alongside David Beckham.
'have played' will be used instead of 'has played' because the subject of the sentence 'Two of the
world’s best forwards' is plural, and with a plural subject, the plural form of the verb 'have' is used;
Like— Two of the world's best forwards have played alongside David Beckham.

8. B)restraunt, beleive, assigment, embarrassed
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restraunt: The correct spelling is "restaurant."
beleive: The correct spelling is "believe."
assigment: The correct spelling is "assignment."
embarassed: The correct spelling is "embarrassed."
9. C) An apartment has been booked by me in the new residential colony.
Active Voice @1 Passive Voice H ol & foIT (Object + Auxiliary Verb + Past Participle + by +
Subject) T FART fHAT SATAT &1 dTFT ‘I have booked an apartment in the new residential colony’
FI Passive Voice § Sgold AT Object ‘an apartment’ &I a&FT I IR H @1 ST g1 Verb
‘have booked’ ST Passive Voice i d&eTehl ‘has been booked’ faram STar %’, Faifen Object ‘an
apartment’ Singular gl Subject ‘'l 3d H ‘by me’ & &I H @1 AT gl
To convert Active Voice into Passive Voice, the structure (Object + Auxiliary Verb + Past Participle + by +
Subject) is used. In the sentence ‘Il have booked an apartment in the new residential colony’, the object
‘an apartment’ is placed at the beginning, and the verb ‘have booked’ is changed to ‘has been booked’
to match the singular object. The subject ‘I’ is placed at the end as ‘by me’.
10. C) 'Row' (verb) T use ZRIT 1T "row" T 312 ZIAT & TG &l AT H FATHT AT TG AATET| TET TX
FITET T T T AT T2l 5, THATT "row" (verb) STITH g1 THAIT "row" (sequence) FT use FIIT FA(Th Tg
T SAHH IT UT<h dl GEHd HdT gl T2T 'sequence’ T 31 T FiHaSE Uik | g0 | g1 ST 'roe’ &'
aﬁm%ﬁéﬁ%’,ﬁmcontextﬁﬂﬁﬂ"ﬁ%l
'Row’ (verb) will be used because it means to propel a boat using oars. In the sentence, the context is
about a rowing activity, making 'row' (verb) appropriate. The second 'row' (sequence) refers to a line or
an ordered arrangement. The word 'roe' refers to fish eggs, which doesn't fit in this context.
11. B) The correct spelling of the word is ‘flexibility’ (Option B), which means “the quality of bending easily
without breaking; adaptability” (FT=era= ¥ &19ar).

12. C) CBAD
C starts the sequence: “The economy of Saudi Arabia is based on petroleum,” introducing the main

idea about Saudi Arabia's economy and establishing the context.

B follows “C” with: “The country has 100 major oil and gas fields,” providing specific details about the
oil resources mentioned in the economy's context.

A comes next: “These are responsible for producing the major fuel used across the globe,” explaining
the global significance of the oil and gas fields introduced in the previous statement.

D concludes the sequence: “The chief oil field is Ghawar Field having an estimated 70 billion reserve
resource,” offering a specific example and additional detail about the most significant oil field, which
ties back to the importance of petroleum in Saudi Arabia’s economy.

13. D) Material (adjective) — Relating to physical objects or substances, tangible, substantial. RIRED
Antonym: Abstract (adjective) — Existing in thought or as an idea but not having a physical or concrete
existence, conceptual. ﬂjﬁ

e Temporary (adjective) — Lasting for only a limited period of time, not permanent. 3TETHT
e Cheap (adjective) — Low in price, inexpensive. T&dT
e Concrete (adjective) — Existing in a material or physical form, real, solid. 31

14. C) At a low ebb (idiom) — In a depressed or weak state (FAIT IT 3219 f*Ifd & @'«-IT)
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15.

16.

17.
18.

19.

20.

21.

A) Brittle (adjective) — easily broken, fragile, delicate, weak. TTS[®
Synonym: Fragile (adjective) — easily damaged or broken, delicate, weak. AT
e Furtive (adjective) — secretive, stealthy, sneaky. Tq
e Fatal (adjective) — causing death, deadly, lethal. ®&Tds
e Fickle (adjective) — changeable, inconsistent, capricious. &
B) Cherish (verb) — To protect and care for lovingly, to hold dear, treasure, nurture. ﬁ"T‘i‘cﬁF TETA
AT
Synonym: Nurture — To care for, protect, or support growth, foster, raise. IOT AT
e Afflict (verb) — To cause pain or suffering, to trouble, torment. fYeT 39T
e Breach (noun/verb) — To break or violate (a law or contract), gap, rupture. 3159 AT
e Neglect (verb) — To fail to care for properly, disregard, ignore. IT&IT FTAT
C) Off and on (idiom) — Now and then 3T

A) Adequate (adjective) — Satisfactory or acceptable in quantity or quality, enough, sufficient. TITE
Synonym: Sufficient (adjective) — Enough, adequate, plenty, ample. TaTH

* Hidden (adjective) — Concealed, not visible, secret. T g1l

¢ Evaluate (verb) — Assess, judge, measure, examine. Wﬁh_rr HLAT

* Reconcile (verb) — Restore friendly relations, harmonize, settle. q<Tg HTAT

B) ‘an appropriate location’ % ¥ ‘a rented accommodation’ FT ST @Tr EDNIED ?JE'T T T Y
1T Bl Lol § Sl T & =9 # oA ST 9°dT €1 'a rented accommodation' S €& # H&l option |

S¥— Sanat has just arrived in Mysore on transfer; he requests his friend Raghu to help him find a
rented accommodation.

‘a rented accommodation’ will be used instead of ‘an appropriate location’ because the sentence refers
to finding a place that can be rented. 'A rented accommodation' is the correct option in this context.
Like— Sanat has just arrived in Mysore on transfer; he requests his friend Raghu to help him find a
rented accommodation.

C) ‘chiefly because of a boost' & &< 'owing primarily to a rise' T ST @Tr FTF 'owing primarily to
a rise' FT 372 BIAT g "H&T ®T F T o FHILT," ST TH aT9T % o1 F G719 Jga< 4 @TaT g1 'boost’ 57
TgT Ol G H gl g, FAIh SHHT T AT g "qETaT adT," STalteh Tgl TNT o HIAL il J1eg 0l a1d gl
T

‘owing primarily to a rise' will be used instead of 'chiefly because of a boost' because 'owing primarily

to a rise' means "mainly due to an increase," which aligns better with the sentence’s context. The word
'boost' is not appropriate here, as it implies an act of giving a push or support, whereas the sentence is
referring to an increase in disease cases.

D) ‘Creating' #T use ZIRTT &1 T&ahT 312 g Tohell =ToT T ATATE FATAT AT TAHTET FLAT, STH TF a9i=
T T@TA sl SITT g1 Sentence H FATAT 14T & T "Culture" T nurturing 3T development g1 T&T &,
TATIT 'creating' Agl ST gl STATH 'Create’ TH base form g 3T T grammatically fit 751 8, 'To
create' T infinitive phrase g, STT T sentence & flow ¥ T&T 81 &, 3¥ 'Creation' noun g, ST T&1
continuous action T ZT & oW Terq %’I

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in
Website: www.englishmadhyam.info, Phone number: 7722987077 Page 11




NV oIk JwlopZ:8 JOIN TELEGRAM CHANNEL: ENGLISH MADHYAM

22.

23.

24.

25.

Creating' will be used because it refers to the ongoing process of making or developing something,
much like the nurturing of a garden. The sentence talks about culture being nurtured and developed, so
‘creating' is the correct answer. On the other hand, 'Create' is the base form and doesn’t fit
grammatically here, 'To create' is an infinitive, which breaks the flow of the sentence, and 'Creation' is a
noun that doesn’t suit the continuous action needed here.

B) 'are' T use ZIRIT FA{ sentence H "care" 3T "nourishment" AT T T FT ST T&T &, ST plural
subject g1 Plural subjects # oI plural verb "are" &T YIRT 3T SITAT 21 THIT AT ‘are’ 2T 2

El'ﬁ, 'were' 3i¥ 'was' past tense F T H TTAT @ﬁ Sg, 3T context present tense ) %I 'is' singular subject
F forw grar €, stfs 78t subject plural &, ZaferT I 92T 21 €

'are' will be used because the sentence refers to both "care" and "nourishment," which form a plural
subject. Plural subjects require the plural verb "are," making it correct here.

On the other hand, 'were' and 'was' are used in the past tense, but the context is in the present. 'is' is
used for singular subjects, but here the subject is plural, so it doesn’t fit.

A) With" =T use ‘@"Tr EDNIED g "acquaintance" (TR o |1 Tgt &9 § HeT @1aT 81 "Acquaintance
with" Ta T2l phrase § ST qTAT & o FoReT =eT & 71 IR= A7 =19 2l

'On' #T use TRET =TS 9% AreTRT g & forw Rt STaT €, ST a2t @at 7t 21 'For' T 9T foheft Sge
T 3297 o [T ZIAT &, ST 7 context § H&l Tol gl 'In' &1 ITART w17 AT et & forw foha stmar g, i
Tt Wl T 2

With' will be used because it fits correctly with "acquaintance." The phrase "acquaintance with" implies
familiarity or connection with something. 'On' is used to indicate a basis for something, which doesn’t
fit here. 'For' is used to indicate a purpose, which is incorrect in this context. 'In' is used for location or
position, which doesn’t fit in this context either.

B) Transmit' T use 33T STTOaTT Fi % g present tense H T general fact IT truth FT =T<F FLaT %I
sentence § FATAT AT g T families TERTT FT 3Tt TEr aF qg?l'l_cﬁ @, ST T habitual action g, 3
present tense H TH Z<h F¥ & [oIT base form 'transmit' &l g1 ST 'Transmitted' past tense & graT
2, "Transmits' third person singular form g, 3fI¥ 'Transmitting' continuous tense & AT &, ST ZH context
# T T

'Transmit' will be used because it expresses a general fact or truth in the present tense. The sentence
conveys that families pass on culture to the younger generations, which is a habitual action. The base

form 'transmit' is correct here to express this in the present tense. Whereas, 'Transmitted' is in the past
tense, 'Transmits' is the third-person singular form, and 'Transmitting' is in the continuous tense, which
don't fit this context.

D) Should not be restricted' FT use f3T STUIT &A1 TBT universities T ARTRAT T {1 TET
LA AT AT 'QPf 1—@ %’, ITAT IeTehT {Fﬁ'ﬂh‘r T course completion certificates I T THT T@ @‘rﬁ
TR Universities FT T TAEAT T SATTH &9 H FETET a7 HI g1 'Should restricted' 31T 'restrict’
grammatically incorrect g #ife 'should' & |TZ base verb IT 'be' T TEAHTA gIAT &1 'Should be
restricted' T %’ ERIIED ag? universities &t %[Fﬁ'eh‘r AT H@ FTA AT T ol ST 1‘@ %’, GREDCL]
=T F2 HT

e 'Should not be restricted' will be used because the context suggests that universities'
responsibilities should not be limited only to issuing course completion certificates; they should
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promote broader educational values. 'Should restricted' and 'restrict' are grammatically incorrect
since 'should' requires either a base verb or 'be' form. 'Should be restricted' is wrong because the
sentence is suggesting universities' role should not be restricted, rather than limiting it.
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